1960 GeV ppbar

Top (parton level)
N R B A

| L =

E AQ (ttbar) (Mtt > 450) E

10? = —A— Pythia 6.428 370 —

— Pythia 6.428 default =

~ —&— Pythia 8.186 default B

1= —

107t &= —

1072 & —

10° = =

El | | | | | ' | | | | | | | | ' | | —

:l T T T T | T T T T | T T T T | :

2 b =

o I -
N~

[4p) — B

00 - —
(QV]

<. B _

o — ]

o 1 [ -

= - - N

g J ’

8 — —

kel — |
I

o B _

05 _|

| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


